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($5$ )6 /17($5 7(/'SCAS/" .$/ 1& 7($ 5)"($5 "- 66$6T =(1<¢ /17 .8"( 71 #IT 1.$ 1187 .$ 1& 7($)5
1=/ " 154 7($? -),$ 71 ($5 7($ 3557$HYBB $T /4 7($? 1&7$/).)7 75 ST /# 3G 71 $.)/$
17($56[ 7($5$ 5%/B? 1& 3$561/6T 6 7($? 48)" 12956'=(1 7()/, 7( 7 7($? ,/2 61.$7()/'T 187 53 --?
J1 = )77-$ 15 /170 1# 7($ 7(16$ =(1 5$F$ # 1?2 7($.)/67$ # 1& I$)/' '5? =)7( 7($.6$-86 5%
5?2 =)7(.$S ()6 " 1/&L8/#$H# 1"5 7$6T 7($?[F ()6 <)-- )/186 .)6-$ #$5 1BIPVC /# 7($/ )& 61.$11#7
6,6 7($.T ( 7T =(7 $<)- #1$6 ($ 35875 7$ "(Y 7($? #1 /17 FT /# " //17 7$--[ 187 ) 15#$5 7( 7 7($?
. ?/17 33$5711$ 7 -166T 7($? 5$3% 7 7($ 5% #7? . #3$ "( 5'$6 =()"¢ 59/68%-- 3()-1618$56 1187
7$ "0 70/'6 83 )/ 7($ "-18#6 [# 8/#$5 7($ $57(T H€)/ /1 '1#6T #. ) 7($= 156$ 33$5 7($



1) &%" % .

I$77$5 86$[ &5 7($? #1 /17 -),$ THES66 7(7 7($)5 35$7SMBY1=-%'S (6 !$$/ #$7W%¥c =()"( )6

7($ 7587([ /# 6 7($? 5%$/8.$5186 /# .)7)186 /# $/$5'$7)"T /# 5$=#83)/ | 77-$ 53 /# ( <$

3$568 63<71/'8$6T 7($?<6 D-#72185 $ 56 =)7( 7($)5 -18# /#H7$5 7$:8.)$6X /# 7()6 )6 7($ 5% 61/

=(?7.?7(5% "'86$56T$-$786 /# /2786 /# 7'L/T ( <$ 6$7 831/ .$[ $-$786T =(1 (6 4855%- =)7(.$

1/1$( -& 1& 7($ 31$76[2786T 1/ 1$( -& 1& BKT6.$/ /4 31-)7)") 6] 7'L/T 1/1$( -& 1& 7($ 5($715)") /6S
%6 6)# 77(S'$)NT " /17 $>3$7 71'$7 5)# 1& 68"( .66 18" 2 )/ .1.$/7X /# 706T
$/1& 7($/6T )6 7($ 7587( /# 7($ =(B 7587([ € "L/"$-$/170/T ( < #)66$.48 /170X 1#

BIT JET(7 .2 3)/$66 1& 68%. ,$6 7($. (7$ .$T /# =(7)6 7($)5 (75% 187 3511& 7(7

63$ )/ 7($ 7587(Y C $/" $ (6 5)6%/ 7($ 35$+8#))/67 .$[ /# 7()6 )6 7($ 5% 61/ 1& )7I86=}-- D/# 187

$)7($5 )/ 7()6 15 )?/&8785$ )/48Y5?

* #3(* ,&389 4775 9.43 4+ 9-* %4:9-

Edit or@ Note: ,0 26&1 .0 #2! . ,),$7G53%4! | &+5%,&11. | (&+$ 2 +7.0 2&3)0
L, &+2 1, 0211 1( 1/311 2&,+1 + , D6IA +15 10l

Soqates: ( <66 )#$/18'()/. ? #$B/6$ ' )/67 7($ D567 "- 662&"86$56] 785/ 71 7(ES- 66X ($?

5% ($#% 1?2 $-$786T 7(7 '11# ./ /# 758$<%5 1& ()A8/75T 6 ($ -6 ().6$-&X ')/67 7($6$TT711
86775271 ..,% #HEE6$S c $7 7($)5 B)7 1$ 5% #S )7")/6 61.$7() 1& 7()6 ,)/#S 7B 7(7 15 7$6

)6 #1$5 1& $<)-T 2658376 7(BST([ /# =(1 #1$6 /17 1$-)8)/ 7($ '1#6 1& 7($ 67 7$T 187 (6 17($5 /$=
#)<))7)$6 1& (38X 8"()6 7($ "(5'S[ /# /1= -$7 868)/$ 7($ 3 57)"8-518/76X $ @6 7(7 . #1$5

1& $<)-T /455837 7(R87([ 187 67T .$/1& 7($/6T 7(7 $-$786)6 #1$5 1& $<)-T )/ 7( 7 ($ 35$7$/#6
711$) $5/$67 =($/ ($)6 1/-2 )/ +$67T /#)6 61 $'$5 71 15)/ .$/ 71 75) - &51. BBTHHE )/7$5$67

1187 . 77$56 )/ =()"( ($ 5% -2 /385 (# 7($ 6. -$67 )/7$5$67X /# 7($ 7587(1& 7()6 =5 $/HB5%

7128X 1.$ ()7($5T $-$786T /#-$7.$ 6, 48$67)1ABK28 7(), '5$ 7 #$ - 1187 7($).3585.$/7

18 287(Y

Meletus: $6T &L

Sogates: $-- 7($ +8#'$6T 7($/T =(1 )6 7($)5$55H 28 .867 /1=T 6 M (<$ 7,$/ 7($ 3/6 71
#)61<$5 7($)AB5837$5T /# 58")7)/ /#86)/ .$1$&15$ 7($.X 3$ T 7($/T /# 7$-- 7($ +8#'$6 =(1 7($)5
).351<$5 )6CLI6SHT $-$786T 7(IB?5$ 6)-$/7T /#<S /17()' 71 62X 87 )6 /17 7()6 5 7($5 #IBEB T

# <$5?1/6)#$5 L$ 35118 1& =(7 6=62)/'T 7(7 28 ( <$ /1 )/7$5$67 )/ 7($ . 77$5Y 33 T&H)$/HT

1# 7$-- 86 =(1 7($)5 ).35%5 )6X



) &% % . |

Meletus: ($ - =6X

Soqates: 87 7( 7T 2 '11# 6)5T )6 /17 .$ /)X = /771 /1==(1 7($ 3$561/ )6T =[1)/ 7($ D567'$T
/1 =6 7($ =6X

Meletus: ($ +8#'$6T 15 7$6T =(1 5% 35$6$/1967X

Socrates: (7T #1218 .$/716 7T $-$786T 7(7 7($? B$H71 )/6758"7 /#).358 A87(Y
Meletus: $57 )/-7T 7($? 53X

(7T - 1& 7($.T 1561.$ 1/-? /#/17 17($56Y

Meletus: -- 1& 7($.X

Soqates: ? 7($ '1#4$66 $5$T 7(7)6 '11# /$=6V ($5$-FIB1& ).35B56T 7($/X /# =( 7 #118 67
1& 7($ 8#)$BCHL 7($? ).351<$ 7($.Y

Meletus: $6T 7($?X1

I#7($ 6%/ 7156Y

Meletus: $6T 7($ 6%/ 7156 ) FBL($.X

Soarates: 87 3$5( 36 7($ .$.!$56 1& 7($ 66$2 155837 7($.Y c15 #1 7($? 711 ).857($.Y
Meletus: ($?).351 <$ 7($.X

Soqates: ($/ $< $5? 7($/)/).351 <$6 /# $-$7$6 7($.[ - =)7( 7($SW37)1/ 1& 76$-& /# -1/$ .
7($)5155837$5Y 6 7(7 =8 B5.Y

Meletus: (7)6=(7 67187-? B5.X

Soqates: . < $57 8/8578/ 7$ )& 5% 5)(7X 87 683316$ 1 248$67)1/S % 1187 (156$6Y 1$6
U$ ./ #17($. (5. /# - 7($= 15-# '11#Y 6/17 7($"8 13316)7$ 7($ 7587(Y /$./)6-$ 71 #1
7($. "11#T 15 7-$ 67 /17 .2[ c7($ 75 )/$5 1& (156$6T 7( 7 16 186 7($. 'L1#T /# 17($56 =(k$ 71
#1 =)7( 7($. 5 7($5 )/+85$ 7($.Y 6 /17 7(7 758%786T 1& (156$6T 2AIGT /). -6Y 167 66859
)7 )6[ =($7($8Q /# | 2786 8 B6 15 /X 337 )/#H =18-# I$ 7($ 1/#)7)1/ 1& B7()& 7($? (# 1/$
"155837$5 IT-9# -- 7($ 5$67 1& (B-# $5% 7($)5 ).35456X 81T $-$786T<$ 68B")$/7-? 6€1
7(7 A8 /$<$5 (# 7(18'(7 1187 7($ 28/'S 2185 "5$-$66/$66 J6 PR185 /17 '5)/' 1187 7($ <$5? 7()/'6
=()"(? 18 15)/" ' )/67 .$X

11 =T $-$786T =)-- 682/17($5 48$67)1/cP $86 =)--S ()"()6 1$77$5T AL I !  #")7)@$/6T



1) &%" % .

15 .1/"'11# 1/$6Y /6= $5T &5)$/4P[ B($ 48$67)1/)6 1/$=()"(?!$ $ 6)-7 /6958X 1/17 7($ '11#
#1 7(3)5 /$)'(1156 "11#T /# 7($# #1 7($. $<)-Y

Meletus: $57 )/-?X

Soqates: /# )6 7($5$ /21/$ =(1 = 18-# 5 7($5 !$ )/+85%(/ 1$/$D7$ 12 7(16$ =(1 ¥=)7( ().Y
/6= $5T 2 '11# &5)$/#T 7(3 588)5$61B 71 /6=$5c#1$6 12 1/$-),$ 71 !$ )/+85%

Meletus: $57 )/-? /17X

Soqates: /# =($/ ? 18 "'86% .$ 1&155837)/' /# #$7$5)15 7)/' 7($87(T #11B --$'$ 7(7 155837
7($. )/7$/7)1/ -2 15 81)/7$/7)1/ --?Y

Meletus: /7$/7)1/ --7T 6X

Soqates: 87 718 ( < +867 #.)7FB( 7 7($ '11# #1 7($)5 /$)' (1156 'L1#T /# 7($ $<)- #1 7($. $<FK)a
7(7 7587(=()"( 285 683$5)15 =)6#1. (6BH@% 7(86 $5-? )/ YR /# . T 7.2 '$T)/ 68"(# 5,/$66
BYA5" $ 6/17 71/ 7(7)& .1=)7(=(1. ( <$71-%)6155837H? .$T . <$57 -),$-?
7118 (5.8# 1?2 ().[ #? $7 155837 ().T /#)/7$/7)1/ -P711c6118 67T -7(18'(/$)7($5 /15 P
17($5 (8. /1$)/' )6 $<$5 -),$-? 71 1$/<)/"$ 1 ? A8X 87 $)7($5 #1 /1MB5837 7($.T 15155837 7($.
8NITSIT)LI --2[ 1# 1/ $)7($5 <)%= 1& 7528 -)$X &.1/8/"$)6 8/)/7$/7)1/ -T 7($(6/1" 1)@ I"$
1& 8/)/7$/7)1/ - 14/"$6S18 18'(7 71 (<$ 7 ,$/ .$ 35)<7$-T /# =5/$# I# #.1)6($ # .$[ &5)& (#
I$$/ 1$77$5 #<I5B 6(18-# (S -$&7 1A #1)/'=(7 1/-? #)# 8/)/7$/7)1/ --2c/1 #1817 6(18-#[ |8TS?
=18-# (<$ /170 71 62 71 .$ /# 5$&88F1 7$"(.$X /#/1= 218 15)/' .$83 )/ 7()6 "1857T =()"()6
3-"$ /17 1& )/6758"7)1/T 187 1& 38/)6(.$/7X

* #38* ,&.389 9-*.82

Edit or@ Note: ,0 26&1 .0 #2! . ,),$7G53%4! | &+5%,&11. | (&+$ 2 +7.0 2&3)0
L, &+2 1, 0211 1( 1/311 2&,+1 + , D6IA +15 10l

Soqates: 7 =)-- 1$ 852 "-$ 5 7187 7($/) /6T 6 =66?)/T7(7 $-$786(6/18% 7 --T'5$7 156. --T

1187 7($ . 77$5X 87 67)-- 6(18-# -),$ 7AT,/1$-$786T )/ =(7 . B5.$# 71 155837 7(L&'X

683316%18 .$/T 6 )/&$5 &51.185 )/#)"7.$/7T7(7 7$"(7($./17 71 "/&-%'S 7($ '1#6 =0)"( 7($

67 7$ " /I=-$'$6T 187 61.$ 17($5 /$= #)<)/)7)$6 15 63)5)78 - '$/")$6 )/ 7($)5 67$ #X ($6$ 5$77($ -$661/
=()"( " 155837 7(3$87(T 61B 67X



) &% % . |

Meletus: $6T 7(7 B3$.3(7)" --X

Soqates: ($/T ! ? 7($ '1#6T $-$786T 1& =(1$=5$ 63$ ,)/'T 7$-- .$ /# 7(AB57T )/ 61.$=(7-3/$5
7$5.6T =(7 18 .$/V &5 #1 /17 67 8/#$567 /# =($7($5.&® B5. 7(7 7$"( 17($5 .$/ 71
"J1 =-$#'$ 61.$ 1HET /# 7($598$ 7( 7 #11$-%Y 'L#6T /# /17 /$/7)5$ 7($)67c 7()6LB #1 /17
-2 71 .2"(5'$Tc!87 1/-2 7218 62 7( 7 7($? 5% /17 7($ 6 .$ '1#6 =()"( 7($ ") 7TABEDS6C7($ "(5'S )6
7(7 7($? 5% #B$S/7 '1#6X ST#B2$/7(7 ./ 7($)676).3 -T /# 7$"($51& 7($)6.Y

Meletus: .$/7($-77$5c7(7 218 5% 1.3 -$7% 7($)67X

Soqates: (7 /$ >75 15#)/ 57 67 7$.$/7V?@#1 28 7()/, 61T $-$786Y 1B .$/7(7 #1/17!$-)$%$
) 7($ 1S # 18 7($ 68/ 15 .11/T -),$ 17($5 .$/Y

Meletus: 6685$IBT +8#'$6T 7( 7 ($ #1$615($ 86 7(7 7($ 68/ )6 671/$T /# 7($ .11/ $ 57(X

Soqates: 5)$/#  $-$786T877()/, 7(7 218 5% "86)/' /> '156S /# A8 ( <$187 !#13))1/1& 7($
+8H#'$6T JBBR" ? 7($. )--)7$5 7$ 71 68"( #$'B/17 71 /& 7( 7 7($6$ #1"75)/$6 EHHE)/ 7($!11,6
1& /> '156 7($ - @1.%/) [T =()"( 5% &8-- 1& 7($.X /# GLR66117(T 7($87( 5% 6 )# 71 1$ 7 8(7
7($.1 7 1"5 7$6T =($/ 7($5$ 5% /17 HBHF-? $())7)1/6 1& 7($. 7 7($ 7($ 75$ ab1? )/ --86)1/ 71
5)6718/$6 =(1 " 5)"7858T /# 71 85)3)#$6 =(1 |155® 7($ /17)1/6 1& /3156T 6 $-- 6 71 17($5
#5.7)" 31$76Xb a$5)& #.)66)1/ 1/$ #5"(. 7 7($ .167b[ /# 7($? )'(7 32 7($)5 .L/$T /# - 8(

7 1'57$6 )& ($ 35$7$/HE BE& ($6$35 154#) 52 <)$=6X HT615-$786T85$ -2 7()/, 7(7 #1 /17
1$-)$8 )/ | ?'1#Y

Meletus: 6=$51? $86 7( 7 28 !$-)$$ 161-87%-? )/ /1/$ 7 --X

Soqates: 111#? =)-- 1$-)$<$ 48T $-$786T /# . 35$77? 685$ IBHD /17 1$-) 8 A856%$-&X//17
($-370/)/'T .$/1& 7($/6T 7(7 $-$786 )6,5066 /# ).38#$/7T /# 7(7 ($ (6 =5)77$/ 7()6 )/#)"7.$/7
) 63)5)7 1& $5HEL/$66 [# 2187(&8- I5<#1X 6 ($/17 "L.318/4$ # S)#-$T 7()/,)/' 71 752 .$Y
$6)#71().6%-&S C 6( - 63($7($5 7($ =)6$ AT$6 =)-- #)6$5 .? & $7)1861/75 #)"7)L/T 15 =($7($5

6(- IS | -$ 71 #$)$ (). /# 7($5$67 1& 7($.45 ($ $57 )/-? #1$6 33$5 71 .$ 75 #)"7 ().6$-& )/
7($)#)'7.$/7 6.8"( 6)& ($6)#7(7 157$6)6 '8)-7? 1& /17 1$)$<)/' )/ 7($ '1#6BT/AR 1$-)$<)/" )/
7($.c187 706 )6 /17 -),$ 3$561/ =(1)6 )/ $ 5/$67X

6(18-#-),$ 28T .$/1& 7($/6T 71 +1)/ S $I))'=(7 " 1/"$)% 71!$ ()6 )1/6)67$/[ /# #1
218T $-$786T /65X /# .867 5$.)/# 7($ 8#)$/$ 1& ? 588$67 7( 7 7($28# /17 . .$ #)6785/" $
)& 63%,) .2 "8671.% .//$5S ) $<$5./T $-$786T I$YIK7($ $)67$8 1& (8./ 7(/'6T /#
/17 1& (8.1 1$)/'6Y X X X =)6(T .$/ 1& 7($/6T 7(7 B+ /6=$5T /# /17 1$ -=76 75?)/' 71 '$7 83
1)/7$55837)1/X Y $5 12 .11$-)$<$ )/ (156$. /6()3T /# /17 )/ (156$6Y 15 )/ ESTHBT /# /17 )/
E87$32556Y T .? &5)$/#[ =)-- /685 7118 /# 71 7($1857T G@5$886$ 71 586 2856$-&X ($5$



1) &%" % .

)6 /1.1 =(1$< $5 #)#X 87 #13-$ 6% 71 /685 7($ /$7 48$67)1/S | ./1$-)$<$ )/ 63)5)78 - /# #)<)I$
'$/")$6T /#/17 )/ 63)5)76 15 #$.)'1#6Y

Meletus: $" //17X

Soqates: 1 =-8"? .71( <$$75"#7(7 /6=$5T77($ 66)67%"1& 7(A857V 87 7($18 6% 5)/
7($)H)"7.$7 7(7 7$"( 1#1$-)$8 ) #)<)/$ 15 63)5)78 - '$/")$6 a/$=-#F 11 . 77$51% 7(7b[ 77

57$T 1$-M$¥ 63)5)78 - '$/")$6T c618767 /# 6=$5 )/ 7($ B#<)7[ /# B7)& I$-1B¥ #)<)/$ 1$)/'6T

(1="/ ($-3!$-)$<)/')/ 63)5)76 15 #$.)'1#6[ c.867 /17YL!$ 685$ .867[ /# 7($FEHT .? 668.$

7(7 185 6)-$8)<$6 1/6$/7X 1==(7 5% 63)5)76 15 #$.)'1#6Y 5% 7($? /17 $)7($5 '1#6 15 7($ 61/6 1& '1#6"

Meletus: $57 )/-7T 7($? 53X

Soqates: 87 7()6 )6 =(7 - 7($ &$7)186 S)i#-ET$ | ? A8S 7($ #$.)'1#6 15 63)5)76 5% '1#6I8 /# ?

62 D567 7(7 #1/17 IS5)PI#6T M 7($/ ') 7(7 #11$-)$8 )/ '1#6[ 7(7)6T )& IS )bS.) 146X
15)& 7($ #$.)'1#6 53 7($)--$)7). 7$ 61/6 1& '1#6T =pSAGB.B (6 15 ? /2 17($5 .17($56T 1& =(1.

7($? 5% 6)# 711$ 7($ 61/6c=(7 (8./ 1$)/' =)-- $85 I$-)¥7( 7 7($5$ 5% /1 '1#6 )& 7($? 5% 7($ 61/6

1& '1#6Y18 .)'(7 6 = $-- B5. 7($ $)67$8 1& .8-$6T /# #$/7(7 1& (156$6 /# 66$6X 8"( /1/6$/6$T
$-$786T8# 1/-? (<$ 1S/ )/7S/HH 17 A8 71 .,$ 75) - 1& .$X18 ( <$ 387 7()6 )/71 7($ )/#)"7.$/7

I$" 86% 28 (#/17()/' 5$ - 1& =()"( 71 ™86$ .$X 87 /1 1/$ =(1 (6 357)"-$ 1& 8/#$567 /#)' =)-$8<

1$ "1/ <)"$ 1?2 A8 (T 7($ 6.5 .3/ " /1$-)$<$ )/ #)<)/$ /# 683$5(8./ 7T0/6T /# 2$7 /17 1$-)$<7( 7

7($5% 5% '1#6 /# #$.)1#6 [# ($51$6X

Socates: ( <$ 6)# $/18'( )/ /6=$5 71 7($ "(5'S 1&8$-$786S? B- 115 7$ #$K$ )6 8//$$66 2187
J1=1/2711%--(E./ 2 5$7($$/.)7)$6 =()"( (<b)/"8558T /# 7()6 )6 =( 7 =)-- 1$2 #$6758"7)1/
)& . HSGTSMHC/17  $-$786T /15r?/ 2786T 187 7(P/ /# #$75 7)1/ 1& 7($5-#T =()"( (6 'S/ 7($
#$ 7(1& . /2 '11# $IT #=)--35111 -2 1$ 7($ #$ 7(1& . P .15$[ 7($5% )6 /1 # /'$5 1& 1$)/" 7($ - 67
1& 7($.X

4$-& 9B .- 9 *&7)1*88

1.$ 1/$ =)-- 62S /# 5% 28 /17 6(.$ #T 15 7$6T 1&1856$ 18 )&)"( )6 -),$-? 71 15)/' BB 71 |
87).$-2 $/#Y 1(). . 2?8527 /6=$5S ($5$18 5% .)67,$/S ./ =(1)6 '11# &15 /?7()/' 18'(7
17 71 "8 7$ 7($ "(/"$ 1& )< 15 #2)/' ($ 18'(7 1/-? TUB)HS5 =($7($5 )/ #1)/' PT()/' ($)6 #1)/
5)(7 15 =51/'c"7)/' 7($ 3 57 1& '11#./151& WX ($5$ 6T 831/ P85 <)$E 7($ ($51$6 =($-& 7
5P =$5$ /17 '11#1& .8"(T /# 7($ 61/ 1& ($7)6 & --T =(1 -71'$7($5 #$68)6835 )/ " 1.3 5)61/
=)7(#)6'5 [ /4 =($/ (5= 661 $'$5 71 B-$"715T ()6 '1##$66 .17($5 6 )# 71 ().T 7( 7 Y&/ G
06".3 N1/  751"-86T /# 6-$="$15T ($E8-# #)$ ().6$-&cg 7$Th 6($ 6 )#T )/ 7($6$ 15 7(ASHSE



) &% % . |

9=)76 5 28 /$>7 &7$5"$15[n ($T'SK)/ 7()6 =5/)/'T 877$5-? #$68B)YBESS /# #$ 7(T /#)I67$ # 1&
&5) 7($.T & 5% 5 7($5 71 9¥ #)6(1/15T /#/17 7E$/'S ()6 &5)$/#X g $7 .$ #ISBE)7(Th ($ 59$6T
9IS <$I$#1& 2 $/$. T 57($5 7(/ )4S$ ($5P17($!$ ,$ 6()36T - 8'()/'671", /# 185#S/ 1& 7($
$57(Xh # "()--$6 /2 7(18'(7 1& #$ 7( 4 #/'$5Y 15 =($5385 ./j6 3-"$)6T =($7($5 7($8=()"(
($(6"(16%/ 15 7(7 )/ =0"(($ (6 '$$/ 3-"$ 1?7 "L.. H$5T 7($5$ ($ 18'(7 71 5%.)/ )/ 7($ (185 1&
#1'$5[ ($ 6(18-#/17 7()/, 1& #$ 7( 15 1&7()/' 187 1& #)6'5$X /#706T .$/1& 7($/6T)6 7588)BX
75 ST )HSHT 48-#1$ . 2 "L#8"7TT .$/1& 7($/6T)& =(T =($/ =6 154$BH? 7($'$/$5 -6 =(1.
A8 (16$ 711 /#.$ 7  17)#$ /# .3 ()31-)6 /# $-)8.T 5%.)/$ # =($5% 7($?-3% .$T -),$ 12
17($5 . [T &)/ #$7(C)& /1 =T =($/T 6 1/"$)& /#).)ST 1# 15#$56 .$ 71 &8-D- 7(§-3613$5j6
)66)1/ 18 63 5"()/ )/71 26$-& # 17($5 .$/T $5% 71 #$6$373167 7(518'G&H 1& #$ 7(T 18 17($5
& 5[ 7(7 £8-# )/#®H1$ 675 I'ST /# .)'(7 +867-? 1$ 55 )#)/ "18571% #$P)/' 7($ $>)67$8 1& 7($ '1#6T
)& #)611$2 7($15"-$1$86$ =6 &5 )# 1&#$ (T &)/ 7(7 = 6=)6$=($/ =6/17 =)6$X5 7($%5
1& #$ 7()6 )/88 7($ 3587$/6$ 1& =)6#1.T /#/17 5% - =)6#1.T 1$)/' 35$7$/6$=V&7(S 8/,/1 =/[
11 US$ J1 =6 =($7($5 #$ 7(T =0"(.$/ )/ 7($)5%8 335$($/# 71 !$ 7($ '5$ 7$67 $<I-T7 1$ 7($
'5$ 7$67 '11#X 6 /17 7()6 )/1$ 18 #)6'5$88- 6157T 7($)/15#0"()6 7($1/"$)7 7(7 ./ /1 =6
=(7 ($ #1$6 /17 J1=Y [#)/ 7()6 5$63F 1/-? 1$-)$%. 26$-& 71 $H&51. 1$78/ 86 7( 7 28 6(18-#
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Soqates: /#)& ($)6 '1.3%--$# 71 -11675 )'(7 7 7($-)'(7T =) ($ /17K 3)/ )/ 06 $786 =()"(=)-- . ,$
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""8671.% 71 IS(EHY
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